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(ii)

(a) Calculate the marginal product for each
additional labour.

qﬁesqf%ﬁaam@aﬁmanemmam
ST oY |

(b) Each units of output sells for X 10. Calculate
the value of marginal product of each
workers.

e axg F 773 10 X B O gl wiw @ dmie
SIEH H Hed FT B

(c) Compute the marginal profit if the wage is
% 50 a day.

AT @ et IO Y o worgdr 50 3 affe
Rl
(d) Draw the firm’s demand curve.

BH FH T FH AT ST g @y g

(e) What happens to this demand curve if the
price of output rises from ¥ 10 to
%12 per units ?

F9 B AN G X N THE IS AT awg #
Fag 10 A g 12 I ST B 7

Explain how the wage can adjust to balance the
supply and demand for labour while simultaneously
equating the value of the marginal product of
labour. 5

ATET HITY 6 799Gl H X H Iq-aeE™ § 59 B
0T g gfef J dewag wnfad 8 s ¥ 9ol @ a7
HA H W IEEHRAT B GoI B FHT B Al B
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h 1

Attempt any five parts (explain using diagrams where

appropriate) :

5x3=15

Rt dfer it @ ST (et oftr @ fsr wfed @ )

(i)

(i)

A monopolist’s marginal revenue is always less
than the price of its good. State whether true or
false and explain.

THIIHR J T ara a9 g% & 900 § H9 el 8 |
FT B HUYT T AT AAE & SATEAT Hifog ?

Do you agree with the following statement ? Explain
your reason “A binding price floor and binding price
ceiling are both lower than the equilibrium price”.

F oMT Y HYUH { weAd € ¢ gaad 9o (I
qed) T ATHGH Jod |1 Al Sgfed 9T 8 %4
B € | T FAT g AT HY | .

(iii) Is it possible for marginal product of labour (MP, ) to

(iv)

decline when the average product of labour ( AP, )
is rising ? Why or why not ?

T g8 G99 & 99 H9 & 9E SWeH gedl & a9 59
F oNrad Ieres I @l edr 81 ofi = Jéf ?

Markets are usually a good way to organize
economics activity. Explain.

anfefer Erarell @ Prafvag & & e ST o or=st
I B | TEAT HY
Why does Marginal Cost (MC) curve always intersect

at minimum point of average Variable Cost (AVC)
curve ? Explain.

HHiT AT %6, oAHa aREdHe AT 9% & gAaH

g uv wla fa=daw HTh B | 9% Gfed a&Emsd |
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gl S & 7o L | Frger 7 10,000, 20,000
S o 8 | s HRA @ 5@% 10,000 H R
& Ieqres W 9¢ | o @& dE 7

(ii) What quantity of CDs would maximize profit ?

What would be the price ? What would be the
profit ? :
W & et | & Scaee e e Rred G
T AT S | §F T 9L T TAT J[A AH
Fans |
Suppose that labour is the only input used by a
perfectly competitive firm. The firm’s production
funciion is as follows : 10
ueh OfRrErT F dhee g € Sedes ST (S1) 6 ST
FHEA T 1w B Iedre HEr A R T ¥ o

No. of labour Units of output

0

7k

13
19
25
28
29

S s e R U S S <

29
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6. .

(i)

(i1)

Define natural monopoly. What does the size of a
market to do with whether an industry is a natural
monopoly ? 6
TR TR ¥ oMY R’ wEma § 7 giphe
THIRHIT & IS 9T AT 1 THC T T g9
T & ?

Amit has just finished recording his latest CD. His
record company’s marketing department determines
that the demand for the CD is as follows : 9

AT F o7t 7 it e weard B 1 Reerd e B
HTAR W H AT ST 56 g B

Price in rupee number of CDs
24 ‘ 10,000
22 20,000
20 | 30,000
18 40,000
16 50,000
14 ' - 60,000

The company can produce the CD with no fixed cost

and a variable cost of X 5 per CD.

HrEt T @ Rt arwr g ¥ | aftad=sha @ 5 %

qfr 1S 21 :

(i) Find total revenue for quantity equal to
10,000, 20,000 and so on .What is the
marginal revenue for each 10,000 increase
in the quantity sold ?

6

(
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(vi) Why cannot two indifference curves intersect each

(i)

(i)

(a)

other ?

& T T TH TET B FA G B qHEY ?

How do interest rates affect household savings ?
Explain with suitable diagram. 8

=157 Bl T Fd TR el gRT @ W are a=d @t
g HE B

Evaluate the following two statements. Do you agree ?
Why or why not ? 7

Pr=fefee S Hu=t & godieT HTg | =T T 59

HYT q weHa & ? F M7 G 7 ? :

(a) “A tax that has no dead weight loss cannot raise
any revenue for the government.”

TR B B MG 9re T8 2 gt |

(b) “A tax that raises no revenue for the government
cannot have any deadweight loss.”

T HY, (9 HEOT GIHC N HE 3T ar qE
BIeit, Ht merAT Ef Ryeeger T€ A &)

Two drivers ~ Mohan and Sudhir each drive up to a
gas station. Before looking at the price each places
an order. Mohan says, “I would like 10 liters of gas”.
Sudhir says, “I would like ¥ 500 worth of gas”. What
is each driver’s price elasticity of demand ?

4

3 ] LB
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4.

(b)

(c)

(1)

A =reier O g 9N U7 oT B 1 A H ged S |/
gsel HeT ween & ar 10 &fe g A aur g waer
2 5 @ 500 T 1 g | o =Tk @ HOT @ A
FT ¥ ?

How do elasticity of demand and supply distribute the
burden of taxation between buyers and sellers ?
Explain with the help of diagram. 3

ST &R gk 5 e R ST T WY @ e T sk
F g § emdes HLh B Ry @ wermar @ a@HsmEd |

Explain why the following might be true :

A drought around the world rises the total revenue
of the farmers receive from the sale of grain, but a
drought only in Haryana reduces the total revenue
that Haryana’s farmers receive. 6

ey, e Hue #E 'l @

gar ¥ gar gs9 9T 9 feat 5 e o g o
2, waf» Baw efEen F gar 937 9 eiarn & A
H FA AT T RN B

Why did the OPEC member succeed in increasing
the price of oil for a short period but could not
maintain it for a long period ? 7

OPEC & d&& 79 & o1 &1 a1 &1 sl der |
THe gT TLY TGT g3 HrAal i ar drefehre @ Tl Rew
™ B F?

(ii)

(i)

(i)

(iii)
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The price of burger rises from ¥ 30 to ¥ 50 per
burger while the price of Pepsi remains T 15 per
glass. For a consumer with a constant income

% 3,000, show what happens to the consumption of
Pepsi and burger. Decompose the change into
income and substitution effect. 8

7% & gew 30 T A Fgt 50 < B e ¥ SrElh Gl
F e 15  ofy e 9x @ R @ & 1 SuHrERT,
e ema 3,000 X B, ST & T ofik i B
SUHNT 9X 5 T GIRad H T 99 IS @ 1 ged
gfa @ g T SReeTas e # R w1

Why is the average cost curve U shaped ? Explain
using a diagram. : 4
T Y AET AT 9 U ST @ @t g 7 R
% T TET FR |

Does a competitive firm’s price equal the minimum
of average total cost in the short run, in the long
run or both ? Explain using a diagram. 8

T T AN BH T e eI 8 =gAas ofred
AN B TEE SN ? @0 g8 gaar drewre J nf ar
TR AT Arddenre arl o 7 fam & Ay e w0
Under what conditions will a firm shut down
temporarily ? Explain using a diagram. 3
fpt e & & B wHg & g SwreT g% BT W ?
st & @y =TE H7X |
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